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2.1
: 61 100 m’/ h( ):
: 2300 s;
: 0. 49 MPa;
: 0. 044 MPa;
:— 0. 070 MPg;
:23.5 G
CO, : 298.2%
2.2
: 1700 s;
: 0. 149 MPa;
: 0. 025 MPa;

:— 0.,076. MPg;

COs: <0.2%
2.3

0, ©0, € CH, H, N,
%.4 0.4 0.3 1.2 517 200
02 0.7 0.5 2.4 694 268
o, %.8
$.4 02 1.0 1.8 177 259
2.0 0.6 1.2 1.2 423 307

6.6 0.4 1.2 1.3 88 227
3
(PSA)
3.1
:P1V=nRT
:PoV= noRT
: An=[ (P~ P2)/RT]V
: PoVo= nRT o
Vo= ( P/Po)(TY/T)*V (1)
(1)
AP= 0. 044 MPa,
V=71.0m’

: Vo= (0.044/0. 1) x
273.15/( 273. 15+ 23. 15) x 71. 0= 28. 80[ m’(

)]
12 : (28, 80% 12/2 300) x



8

3 600= 540. %[ m*( )]
Hy: 540. 94 x 17. 7% = 95. 75[ m’(
)]
2000m’( )Hy 1t \
:95.75/2 000= 0. 479 (1)
Ha: 0.047 8% 24= 1. 15 (1)
N, £ 540. 94% 25.9%= 140. 10[m”/ h
()l
(2
AP= 0. 025 MPa,
V= 58.0m
: Vo= (0.025/0.1) x
(273.15/296. 65) x 58. 0= 13.35[m>( )]
8 - (13.35% 8/1700) x 3 600=
226. 16 H2: 226. 16 X 42. 3% = 95. 61[m ™/ h

()]
Na: 226. 16 % 30. 7% = 6. 43[ m’/ h(

£ (95.67/2 000) x 24= 1. 15 (t/d)
: 115+ 1.15= 2. 30

(t/d)

:[(95.75+ 95.67)/
(61 100%51.7%) | x 100%= 0. 61%

: [ (140. 10+ 69. 43)/
(61 100%20.0%) | x 100%= 1.71%
3.2

(1) .

Vo= (AP | AP) x Vp (2)
(1

Vo= (0.070/0.04) x 540. 94= 860. 59[ m¥ h
()l
H» 5% H»
. 860. 59% 5% = 43. 03[ m/h( )]
 (43.03/2 (00) x 24= 0.52 (1/d)
N, 10% Na
. 860. 59% 10%= 86.06[m*/h( )]
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(2
V o= (0.076/0.025) x226. 16= 687.53[m’/h
C )l
Hy: 687.53 % 8.8%= 60. 5[ m’/ h( )]
N2: 687. 53 % 22. 7% = 156. 14[m3/h(
)]
:(60.5/2000) x24= 0.73 (t/ d)
:0. 52+
0.73= 1.25(t/ d)
:[(40.03+ 60.5)/(61 100x
51.7%) ] x 100% = 0. 32%
:[( 8. 06+ 156. 14) /(61 100 %
20.0%) ] x 100% = 1.98%
:2. 30+ 1.25= 3.55

(t/d)

:100% - (0.61%+ 0.32%) =
99. 07%

:100% - (1.71%+ 1. 8%) =
96.31%
4

10 : 240 A,
:P= 10.3UTwsf= 10./3x 380x 240x 0. 85=
1 342. 69( kW)

1 132kW :
(PSA) .1 342,69+ 132= 1474.69
(kW)
34/d
(PSA) L 24 1 474. 69/344= 102. 89
(kWh)
5
(D (PSA)
: : 3.55¢
(2) (PSA) H,
99.07%, N %. 31%
(3) (PSA )
102. 89 kWh,



